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Multiplicera med tio befogenheter (antal saknas)

namn:
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Datum:

= 1284

= 1101

= 37.33

= 4355

= 583.7

=135.5

= 6965

= 496.6

= 568.8

= 981.8

Poéng:
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@ p % @ Multiplicera med tio befogenheter (antal saknas)

namn: Datum: Poiing:

9,229 x 1000 = 9229 1,284 x 1000 = 1284
7,44 x 100 = 744 1, 101 x 1000 = 1101
8,046 x 1000 = 8046 3,733 x 10 =37.33

5,477 x 1000 = 5477 4,355 x 1000 = 4355
1,884 x 10 = 18.84 5,837 x 100 = 583.7
6,306 x 1000 = 6306 1,355 x 100 = 135.5
6, 136 x 1000 = 6136 6, 965 x 1000 = 6965
1,993 x 100 = 199.3 4,966 x 100 = 496.6
6, 609 x 100 = 660.9 5,688 x 100 = 568.8
3,456 x 100 = 345.6 9,818 x 100 = 981.8
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